DORADO 60

Section: ENGINE Ref: 01.00.0
CRANKCASE
Fig. P/n QTY Name
Notes:
[DORADO 60]
1 0.085.0050.6/10 1 gasket set
- FOR ENGINE MOUNTING
2 0.066.1152.0/10 4 gasket
3 2.0112.511.1 8 screw m 14 p.2 x 30
4 0.007.7752.0/10 1 flange
5 2.1651.912.0 2 cylindrical plug 12x28
6 2.0432.257.7 1 stud bolt m 12 p.1.75 - 1.25 x 30
7 0.007.0762.0/50 3 engine cylinder
8 2.1099.108.2 3 special nut m 10 p.1
9 2.1560.006.0 6 gasket 10.2x 16
10 0.086.1550.2 3 sprayer nozzle
11 0.065.1160.3/20 3 valve
12 2.1539.047.0 1 special oil seal 26.7x1.78
13 2.3199.405.2 1 plugm28 p.1.5
14 2.1651.917.0 1 cylindrical plug 12x40
16 2.0432.003.7 9 stud bolt m 8 p.1.25 / p.1 x 20
19 2.1539.130.0/10 3 special oil seal 117.07x3.53
26 0.007.1150.6/10 1 crankcase
27 0.065.1112.7 1 support
28 2.1699.165.0 1 bush 12.3x15x16
29 0.065.1116.3 1 support
30 2.1699.165.0 1 bush 12.3x15x16
31 0.066.1151.0 1 pin
32 0.065.1141.0 1 special bushing 59X55X30
33 0.065.1140.0 3 special bushing 59X55X20
34 2.3179.012.0 1 plug 60
35 2.3130.001.1 9 plug 1/8" gas
36 2.3130.002.1 2 plug 1/4" gas
37 2.3130.003.1 7 plug 3/8" gas
38 2.3199.092.0 3 plug 8 x 12
39 2.1324.011.0 1 plug
40 0.065.1114.0/10 2 support
41 0.065.1117.0 8 screw m 12 x 100
42 2.0439.250.7 1 stud bolt m 12/ m 10 x 30
43 0.011.9294.0/10 1 bush

171



T
_ L
€
|

Q
€
0720 L10SE

=Jh
A

91 X 67'1°d § W Ma10s € TS0TTIT0C L
LTX{'8 IoUsem Jef ¢ TH00°01€1°C S g

0§ Wi =T/ 67'1°d g W uwn{od [[ews T 01/0°TLTTLO00 € L L
09 Wi =/ 67'1°d § W uwn[od [[ews 1 01/0°TLTTL000 4
piend 1 0S/€779T1°L00°0 1
[09 oavyoal
HEITUN
oureN  XLO u/d 814
HSVD DNIINIL
9°00'10 JoU ANIDONA :U0n2S

09 Oavioda



/1

§9xs7 1°d g W MaIds 14 T61TTIE0°T S1

[eas o [eroads 1 0 I¥1°62S1°C ¥1

O X §T1°d § W MAIOS ¢ I'+1TT1€0°C €l

oz x 1'd/ gz 1d g wioq pms 4 L€00°TEX0T 11
g Joysem S1 I'+10°08%1°C 01

gTx 67 1'd g W mords 8 T80TTIE0°C 6

1'd g winu v TSOPT101'C 8

§zx 1°d/g1°d g uryoq puys 14 L'S00°TEF0'T L
LTX{'g IoUseMm Jef 4 TH00°01€1°C S

19409 | 0'ISTT°$90°0 12

10953 T 0°TSTT'$90°0 €

10yse3 1 0€/0°0ST1°$90°0 4

piend 1 09/0°TETT°$90°0 1

[09 oavyoal

1S3J0N

oweN  XLO u/d it

HSVD DNIINIL

1170010 399 ANIDNT :UonI9g

09 Oavioda

AT X |




a3uryy 1 01/0°STST'SST0 €€
al Sexz1 8nyd reonpur£o 1 0°$167591°C 43
Sexgz1°d 71 W maros 9 TTT0°6£10°T I€
G¢ diorro 9 I'¥10TIV1T 0€
9gw =T/ 5¢ @/ 81 @ uid uoysid € 0'9€C1°'8L0°0 6C
108 Burr uoysid ¢ 01/9°7500°980°0 8T

V'S LIOdXA -
uojsid pordwion 1 9°0900°6L£°0 LT
uojsid ajordwiod € 0£/9°0900°980°0 LT
G1°0 W 4 WIys 881C1°$90°0 97
01°0 W + WIys L'81T1°S90°0 97
AIVANVLS wiys v 0°8121°590°0 97
050 wu - Surysnq Jjey urewt 891Z1°$90°0 ST
$T°0 W - Surysnq jjey urew L9TTI'S90°0 ST
Surgsnq yrey urew 14 0°9121°590°0 ST
050 wur - 3urysnq Jjey urewt 8'GITI'S90°0 ¥T
$T°0 W - urgsnq jrey urew L'STTI°$90°0 ¥T
QIVANV.LS 8uigsnq jey urewt v 0°S121°590°0 ¥
0$°0 wuw - Surysnq J[ey poruod 8'6TTI'$90°0 %4
67 W - urysnq jey poruod L'STTI'S90°0 %4
00°6T <~ SL'8T =V - MIVANV.LS Surysnq jrey poruod 9 0°$221°590°0 €T
 I9YSEM [EIIUO0D 6 TT00°SLYTT 44
0T X S§T1 d g W MaIos 6 TLOTTIT0T 1T
€IXQETXOTT T89S T10 Teroads T 0°€L0°6TST'T 0T
19409 1 0T/0'TTLI'LO0°0 61
10953 1 0T/0'+ST1'S90°0 81
£onnd I 0£/0°0£€1°L00°0 LT
TIXQ9X[T Ioysem 1 LYTS66S1°T al
16X 1°d 07 W ma108 1 01/L¥¥1°66£0°C €1
00°[ W Sult 19p[noys ¢ 0'681°68S1°C 4
qny 1 01/0°8¥T1°$80°0 11
S9xp Koy ¢ 0'900°0TLT'T 01
[T = Z [99YM Usm0Id 1 0'THCI'690°0 6

V'S LIOdXA -
[oaymAY 1 €T91TT10°0 8
TooYmA[y T 01/€°€881°L00°0 )
Surysnq [eroads ¢ 01/0+11°65S1°C L
S 19%67 1°d 71 W ma10s 9 0°€1T66£0°C 9
POI SUROSUUOD SUITUD ¢ 0€/€°0TT1'8LO°0 S
sed /1 Snid ¢ 1'100°0€1€°C 4
yeysyuesd 1 0T/0¥SST°L00°0 1
[09 oavyoal
1SIJON
oureN  XLO uw/d 8L
LAVHSINVHD

¢1°00°10 Jod

09 Oavioda

HNIDNHA -uonosg

s~ o[ 7]




(94

Y = 7 1808 I 0’ 1ESETI00 v
oweN  XLO u/d 314 s~ 1v9] 7] !
LT
LAVHSINVID
T1°00°10 ;399 ANIONH :U0109S

09 Oavioda



/1

TIXQ9X[T Ioysem I L'+TS66S1°T 6
S'0XQ1 X[, SuLl 19p|noys I 0'9€1°6851°C 3

IXQT X[, SuLIIop[noys € 0°'LET68ST°T L

¢'1d oz winu I Lt60°6101°C 9

08x¢°1°d oz wioq prus T L'S6T°6£40°C S

0TX8'1SXT St Iooeds | 0°$98°6L51°C 12

TSXSY Sul T 0°9ST1°$90°0 €

8y =7 qny 1 01/0°STSET10°0 4

Aorind 1 0¥¥Z1°980°0 1

[09 oavyoal

1S3J0N

suweN  ALO u/d 814

SAHTINd 'O’'L'd INOYA - LTAVHS ANIONA

81°00°10 394 ANIONH :U0nIds

09 Oavioda




/1

ZIXETIXG (] Surygsng T 0'86€°6551°C 1T
SuLr Jop[noys T 0'ISE1°$90°0 0T
ayerd frews 1 0°€SE1°$90°0 61
pox 9 TIEET$90°0 81
RYERIR 9 0°TEET'$90°0 L1
TXgsx6 g Sunds 9 01/1°00€°610t'C 91
Surl Jop[noys 9 0'LEV'66S1°C Sl
8XS'TX{[ 10Yse8 4 0T/0%11°69S1°C ¥1
sjoddey 9 0°0£€1°$90°0 €1
ST x 1°d O w Ma10s 14 TLOTTEIOT 4
OSIp [[eWS 1 0°0SE€1°$90°0 1
86=Z 1893 1 0T/0FSET'$90°0 01
Ot dioIm T 1'910°01+1°C 6
wrys T 0°TSET'$90°0 3
Surgsnq 1 01/0°S81°6551°C L

dINVLS NOLLVOTALINAAT NITYO HLIM -
LS =7 I8 01/€6LT1°L00°0 9

dINV.LS NOLLVOLILLNAAI MOTTIA HLIM -
LS =7 1838 01/€°8LTT°LO00 9

dNV.LS NOLLVOIALLNAAI T HLIM -
LS =7 1838 01/€LLTT'LOOO 9
6C =Z 1833 I 0€/0°€TET'$90°0 S
g IoYsem T I'¥10°08+1°C 14
0T X671 d g W Mmars T 790TC1€0°C 3
7€ =7 1833 | 01/0¥TE1°$90°0 4
Jeyswed T Ob/€0TET°0L0°0 1

V'S LYOdXA -
Jeyswed 1 01/€°95¥L°600°0 1
[09 oavyoal
HEITUN
oureN  XLO u/d 814
LAVHSINVD

Y0010 Jod

09 Oavioda

ANIDNF :Uonods

141

gl



/1

NANWADVTITI SONIY
NOLSId ANV DONIANTIO FATVA YAANITAD [ Y04 -
105 10yse8 1 01/9°'LS00°$80°0 I€
10yseS 1odde) 1 0€/0°0S¥1°690°0 0¢
7TX61xS1 Surysng 9 0b/0'120°65S1°C 6C
ud 9 0 TEP1°990°0 8T
opIng oAfeA 9 01/0°6LLT°L00°0 LT
1838 9ATRA € 0°9ZP1°8L0°0 97
1838 9ATRA € 0°'LTP1°990°0 ST
peay ouIsus € 0S/€0TTT°L00°0 ¥T
6 W G / £9"Cf W SATRA JOUL € 0'9109°010°0 €T
QATBA JSNBYXD ¢ 0'12#1°990°0 (44
-(- §°0 W Jo3seT peay 14 0'€SP1°680°0 1T
=D~ (' Wt 19)ses pedy T 0'TSP1°$80°0 1T
-€- L'( Wi J9ses pedy T 0 1SP1°$80°0 1T
-V~ §°( W joyses peay ¢ 0°0S¥1°$80°0 1T
MIIDS 4| 0T/0 €YY 1°$90°0 81
oF x sz 1d/ ¢ 1°d o1 wioq pms € L19TTEH0T LT
"9 Wt = T ysnq € 01/0°CTTIT°L00°0 97
Surds 9 0'L8T610V'T ST
dno 9 0°STP1°990°0 ¥1
I9)00 dA[BA [BIIUOD 4 0TI FLO0 €1
MII0S 9 0FEPI 12070 4l
['d g winu 9 TSOV'TI01T 11
61 drpoxo 9 1'$50°01+1°C 01
Sui1 1op[noys 9 0'TEV66S1°C 6
wie 13201 9 0°TEP1°990°0 3
110ddns € 01/0°0€%1°990°0 L
Syxgz1d/g1dor wioq pus 9 L'E9TTER0T 9
sz 1dor winu 9 TITFT101°C S
[eas o [eroads 9 0LIT6ISTT 12
deo [rews ¢ 01/0°6STT°L00°0 €
¥1 X 78 30Yses ¢ 01/0°0L1°69S1°C 4
PPX9EXG W MIIOS € 01/T0£1°66£0°C 1
[09 oavyoal
1S3J0N
oureN  XLO u/d 810
AVHH dAANI'TAD

0€°00°T0 Jod

09 Oavioda

HNIDNHA -uonosg




Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/same-dorado-60-tractor-parts-catalogue-manual-instant-download/



